G

9LLLN3<

N
-
P
LO
@)
D
N
(@)
M

N> RNA

PLAYGROUNDS
designed for sustainable and creative play

17-11-2020 / Rev.: B




502-005-002

(1:80)

3830 5316
2950 )//~7Maxl<g
2285 — ] —
2165 —

Max cm

1627 I
1232 —1302
837 —

443
100

nan
U

I\

™~
=
_—
800
T
800
H

(1:70)

6851

1500

8324
~
40m? 8,3x6,9x3m ~321kg ~0,3m’ 44x295x295cm 75kg

NORNA PLAYGROUNDS A/S - Virkefeltet 1, DK-8740 Braedstrup * Phone +45 7575 4199 « mail@norna-playgrounds * norna-playgrounds.com Y,

This drawing is the property of NORNA PLAYGROUNDS A/S and pursuant to current legislation may not be copied, transferred to or used by any third party. Should this drawing be used,
a fee of 10% of the assumed contract price will be charged.



502-005-002

D11401

SR00112
D11399

512049
D11614

D11400

$12055

SR00108

SR00111

RS00270

SR00109

SR00110 D11411

Parts List
QTY | PART NO DESCRIP.
1 D11399 @140x3200mm, assembled
1 D11400 @200x3790mm, assembled
1 D11401 @200x3790mm, assembled
1 D11411 Taifun, net
2 |D11614 @120x650mm, assembled
4 | RS00270 |J120x650mm
1 |S12049 Taifun
1 |S12055 Taifun
1 |SR00108 | Slide tube
1 SR00109 | Left ladder frame
1 |SR00110 |Right ladder frame
1 |SR00111 |Left ladder frame
1 |SR00112 |Right ladder frame




502-005-002




502-005-002

LE16152
LE16152 LE15258 LE15108

LE16152

LE16100

B1 LE16556

LE16156

LE16152

LE16085
LE16054

LE15182

LE16556

Parts List

QTY | PART NO DESCRIP.

2 |LE15108 |@38 x40mm Spacer

2 |LE15258 | M16x300mm

2 |LE16053 |M8 cap nut r:‘/"\\f:
12 |LE16054 |M10 cap nut I j¥

2 |LE16065 |M8x45mm
12 [LE16085 |M10x70 mm | Z ]

LE16100 |M16 nut

| = & ““NORNA 100g

7 |LE16152 |M16 - 230 mm 0 (LE16604)

It t

24 |LE16156 |M10-@20

5 |LE16556 |@42/38mm |

2 |SR00147 |M16x157/60 L




502-005-002 @

LE16065

LE16152

LE16053 SR00147

\Z

J

LE16502

LE1so10 000!

LE16599

Parts List
QTY | PART NO DESCRIP.

14 |LE13100 |Shackle 1
2 |LE15901 |3x16, PH |
1 |LE15910 |Name tag

2 |LE16053 |MS8 cap nut |
2 |LE16065 |M8x45mm

7 |LE16152 |M16 - @30 mm |
14 |LE16502 |Spacer 6mm

2 |LE16599 |Sealtite 970 1,5 ml (Glue) |
2 |SR00147 |M16x157/60




